National Testing Agency

Question Paper Name : Linguistics Hin 14th June 2023 Shift 1
Subject Name : Linguistics Hin
Creation Date : 2023-06-15 01:36:29
Duration : 120
Total Marks : 400
Display Marks: Yes

Linguistics
Group Number : 1
Group Id : 920906162
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 400
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

Part A

Section Id : 920906323
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906526
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 92090616299 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

frefefiad wams + SFYEs Tgt 99l & I i -

3 wdi-adl Hitd witg A W g,
i ® S FHe g9 I &
92 Wl 1§ A B IEFT M,
T, 39T E G gHEAl AT 8§
fema d gan 5301, |ee, Hie- Al
qTeT U1, Hi5 59 feea staar o
9 df @&d 8 He, R, T % Wi
I8 Foea< 84 8 off sg= At o
=M faft Wo3E 3 7 Ion 6.,
31 T oft &l 019 B wedt 27
i@l % 3 74 % He Fa1 I,
F8 "ra-ong g 9w gv & 2|
Sub questions
Question Number : 1 Question Id : 92090616300 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS H H 39 W5 1 994 shitae e o Eer g @ -

(1) =hedld~d (2) 943
(3) @ (4) ¥
Options :

92090664401. 1
92090664402. 2
92090664403. 3
92090664404. 4

Question Number : 2 Question Id : 92090616301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR % HTHN W A feeg 3gant a1 -

(A) I I
(B) ®Te®
(C) =9
(D) HeAEA
(B) =

Fra feu Tu fashedi § ¥ TEH ITgE IT H FI4 HIfAC
(1) % (A)F (B)
(2) Haa (C) T (D)

(3) I (E)
(4)  HaA (O)
Options :

92090664405. 1
92090664406. 2
92090664407. 3
92090664408. 4

Question Number : 3 Question Id : 92090616302 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fema § =19 gan g3 o1 -
(1) e, WeT-9Tel Sersh
(2) =/

(3) @14

(4) g

Options :

92090664409. 1
92090664410. 2
92090664411. 3
92090664412. 4

Question Number : 4 Question Id : 92090616303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T H U W A &1 faem wee 2o -

(1) ™=
(2) 4=«
(3) =
(4) W&
Options :

92090664413. 1
92090664414. 2
92090664415. 3
92090664416. 4

Question Number : S Question Id : 92090616304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qH d 8 B,

I STl 1 TR 6 HATYW T HH H e -
(A) I8 Fog< g9 8 Wt sge I

(B) W T & gt

(C)  Ia AT ot el W B whdt ?

(D) = farht wo3m 3 <t Ion =

(B) %o "r=-gug g = 9v =@ 2

A feu o fashedi § | |E I F 95 it ¢
(1) (B), (A), (C), (D)3 (E)
(2)  (B),(A), (E), (C)F (D)
(3)  (B), (A), (D), (C)F (E)
(4)  (B), (A), (E), (C)= (D)

Options :
92090664417. 1



92090664418. 2
92090664419. 3
92090664420. 4

Question Id : 92090616299 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

fFreferfia T +i eHYEs Tet 99l & I gt -

9 991-991 Hid g | il 7,
Ut § FE A g& I 8|
98 Wl H o 7Y IHH I,
AL, AT & T FEAT AT 8
fema o g B30, B, Hie- A
gTeT% o1, HI5 Y fesr smEand 9
a9 d1 *&d 8 He, W, ¥ % i
98 Fad 89 § of gg A o1
g fagft wogm 3 & gow T,
31 AT i FET {4 & FEwd 2 e
@l & 3ATg 749 % He a1 T,
8 Ta-a9g g 9= 99 @ 2

Sub questions

Question Number : 1 Question Id : 92090616300 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS H H 39 e I 994 shitag foamen 1o S g # -

(1) = (2) T4
(3) F@ (4) A
Options :

92090664401. 1
92090664402. 2
92090664403. 3
92090664404. 4



Question Number : 2 Question Id : 92090616301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR % HTHN W A feeg 3gant a1 -

(A) I I
(B) ®Te®
(C) =9
(D) HeAEA
(B) =

Fra feu Tu fashedi § ¥ TEH ITgE IT H FI4 HIfAC
(1) % (A)F (B)
(2) Haa (C) T (D)

(3) I (E)
(4)  HaA (O)
Options :

92090664405. 1
92090664406. 2
92090664407. 3
92090664408. 4

Question Number : 3 Question Id : 92090616302 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fema § =19 gan g3 o1 -
(1) e, WeT-9Tel Sersh
(2) =

(3) @14

(4) g

Options :

92090664409. 1
92090664410. 2
92090664411. 3
92090664412. 4



Question Number : 4 Question Id : 92090616303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gerTel § 370 viee ‘O &1 ey wree B -

(1) ™=
(2) e
(3) @
(4) T&H
Options :

92090664413. 1
92090664414. 2
92090664415. 3
92090664416. 4

Question Number : 5 Question Id : 92090616304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qH @l &d Bl ",

I TR I TR % HTYW W SH H e -
(A) W8 warE g9 8 ot Fee A e
(B) ®H 54 % Him
(C)  3aa1 ATt ot HEf W B Hepell B
D) o= fart wogm 3 S Jon v
(B) F9 dra-aus foregn = 99 @@ 2
W feu e fapedi # | | I F1 97 i
(1) (B), (A, (C), (D) (E)
(2)  (B). (A), (E), (O)3F (D)
(3)  (B), (A), (D), (C)F(E)
(4)  (B), (A), (E), (C)F (D)
Options :

92090664417. 1
92090664418. 2
92090664419. 3
92090664420. 4

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

2
920906527
Yes

null

Question Number : 6 Question Id : 92090616305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frefafiga 4 8 Ffefza am fRafea St

(1) 39 gmar i feeeht @4 8
(3)  Imeht uren ft feeeft o @t €1

(2) IHeht TTaT St feoett =4 21
(4) 35k Tren Sft feeeht O @4 2



Options :

92090664421. 1
92090664422. 2
92090664423. 3
92090664424. 4

Question Number : 6 Question Id : 92090616305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frefefaa % | gfefza am fafea Fifsw:

(1) 35 °rar S feeett B4 81 (2) Fmeh! O S feoedt w®a 21
(3) 3Tt gray it feeett § @& 21 (4) F&eh graT 1 feeett § & B
Options :

92090664421. 1
92090664422. 2
92090664423. 3
92090664424. 4

Question Number : 7 Question Id : 92090616306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafiga ameT #i @& w9 |

(A)  gHifere adae 7 i Al 7 wad @
(B) TE-TE % U I4 Hre=el 2

(C)  SA-=1 usg 1 HETHA agdl Al B
(D) @t TU-AT IFrfersh Ed &

(B) -7 v 3wht g % fer

Fr= feu v fasredi ® 9 |81 I &1 954 FIfS
1) (B, (B), (D), (A) 3 ()
2 (B). (0), (A), (D) 3 (E)
(3) (). (B), (B), (C) 3T (D)
@) (0. (B), (B), (D) 3 (A)

Options :

92090664425. 1
92090664426. 2
92090664427 3
92090664428. 4

Question Number : 7 Question Id : 92090616306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafiga ameT #i @& w9 |

(A)  gHifere adae 7 i Al 7 wad @
(B) TE-TE % U I4 Hre=el 2

(C)  SA-=1 usg 1 HETHA agdl Al B
(D) @t TU-AT IFrfersh Ed &

(B) -7 v 3wht g % fer

Fr= feu v fasredi ® 9 |81 I &1 954 FIfS
1) (B, (B), (D), (A) 3 ()
2 (B). (0), (A), (D) 3 (E)
(3) (). (B), (B), (C) 3T (D)
@) (0. (B), (B), (D) 3 (A)

Options :

92090664425. 1
92090664426. 2
92090664427 3
92090664428. 4

Question Number : 8 Question Id : 92090616307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 % Ty g=A-11 1 frem Hifs

g1 g=fi-11
A Fenmdfwaas () =ggE
(B) i arhd & () HgHIR
(C) <% 4| Hg arel (I11) Femsie
(D) g T HaR (IV) W&

H= feu v fompedi ® & AE I &1 999 Sifau .

(1) (A)-(IV), (B)-(I1D), (C)-(1I), (D)-(T)
@)  (A)-ID, (B)-(I), (C)-(III), (D)-AV)
(3)  (A)-1), (B)-1V), (C)-(D), (D)-(1T)
4 A)-D, (B)-1I), (C)-1V), (D)-(ILD)

Options :

92090664429. 1
92090664430. 2
92090664431. 3
92090664432. 4

Question Number : 8 Question Id : 92090616307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 & = g1 1 frem Hifse
g1 g1
A Fenmdfwaas () =ggE
(B) i arhd & () HgHIR
(C) <% 4| Hg arel (I11) Femsie
(D) ®TE T HaN (IV) W&

H= feu v fompedi ® & AE I &1 999 Sifau .

(1) (A)-(IV), (B)-(I1D), (C)-(1I), (D)-(T)
@)  (A)-ID, (B)-(I), (C)-(III), (D)-AV)
(3)  (A)-1), (B)-1V), (C)-(D), (D)-(1T)
4 A)-D, (B)-1I), (C)-1V), (D)-(ILD)

Options :



92090664429. 1
92090664430. 2
92090664431. 3
92090664432. 4

Question Number : 9 Question Id : 92090616308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gei1-1 & |g g=Hi-11 %1 frem Fif
-1 H=1-11
(A) FEA () 9
(B) == (II) g+
(C) &+ (I11) gferpen
(D) FFE| (IV) =

dr= feu o faemegi © ¥ B I+ 994 Fifdu

(1) (A)-(IV), (B)-(D). (C)-(T), (D)~(I1I)
(2)  (A)-(D), (B)-(IV), (O)-D), (D)-(D)
(3)  (A)-dI), (B)-(ID), (C)-(IV), (D)D)
(4)  (A)-(D), (B)-(ID), (C)-AV), (D)-(11)

Options :

92090664433. 1
92090664434. 2
92090664435. 3
92090664436. 4

Question Number : 9 Question Id : 92090616308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g=1-1 % @y g=i-11 %1 fgem $ife .

Tt-1 g=i-11
(A) FEA () i
(B) 3 (IT) e
(© &M (I11) Sfeiget
D) w=A (IV) =@

dr= feu 7o fa=eTi © 9 B I w1 994 Fifew

() (A)-V), B)-(ID), (O)-(D), (D)-(ILI)
(2)  (A)-(IID, (B)-(IV), (C)-(1D), (D)-(I)
(3) A1), (B)-(1), (C)-(IV), (D)-(D)
(4)  (A)-D), (B)-(ID), (C)-(AV), (D)-(11])

Options :

92090664433. 1
92090664434. 2
92090664435. 3
92090664436. 4

Question Number : 10 Question Id : 92090616309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frefafaa § @ denifE #1 v

(A) ©El 1 FE T R A G H

B)  Fu =t sem um

(€) 3 % =g A3H

(D) HAR % @MY 5= | g o1 2

e feu e kel § | |8 I F1 95 A
(1) (A JR(B)

2  (B) 3R (D)

3 (B)3M(C)

(4 ()3 (D)

Options :



92090664437. 1
92090664438. 2
92090664439. 3
92090664440. 4

Question Number : 10 Question Id : 92090616309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafaa 4 & e 1 wwaH
(A) 9Tt 1 FA T W FH T GR H
(B) 3o Ra=st sem e
(C) 3 F =re e
(D) 37 % |y g1 i frg e 2
Hr= feu o fasedi § | |8 I #5197 i .
(1) (&) 3R (B)

2 (B) 3R (D)
3) (B) 3R (C)
(1)  (C) 3 (D)

Options :

92090664437. 1
92090664438. 2
92090664439. 3
92090664440. 4

Question Number : 11 Question Id : 92090616310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AU |1 § T forad A1 99 Fufea e W 99e & |ee 1 Headl 919 & JRAf 7

(1) 30fe (2) 60 fam
(3) 90 fe (4) 120 f&=
Options :

92090664441. 1
92090664442. 2



92090664443. 3
92090664444. 4

Question Number : 11 Question Id : 92090616310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AU w1 § i forar i 9% 3ofRm e W 99e % 9o &1 9eEd 9uTd & S 7

(1) 30f= (2) 60 f&=
(3) 90 f&@ (4) 120 fe=
Options :

92090664441. 1
92090664442. 2
92090664443. 3
92090664444. 4

Question Number : 12 Question Id : 92090616311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferea diam (Aeiersh) feam < w9m@ ST 87

(1) 1694 (2) 20 318
(3) 20w (4) 20 34
Options :

92090664445. 1
92090664446. 2
92090664447. 3
92090664448. 4

Question Number : 12 Question Id : 92090616311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferea diam (Aeiersh) feam < w9m@ ST 87
(1) 16 9 (2) 20 3=
(3) 20m8 (4) 20 3nra

Options :



92090664445. 1
92090664446. 2
92090664447. 3
92090664448. 4

Question Number : 13 Question Id : 92090616312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R § e e § avaad I g3 e

(1) = giwag (2) ©E% ATE FHEm
(3) AT\ FW (4) HTeA-U-HATTH
Options :

92090664449. 1
92090664450. 2
92090664451. 3
92090664452. 4

Question Number : 13 Question Id : 92090616312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9Td H T fhed 8 9weEs IR g3 7

(1) T EiwEs (2) ©E® HATE FON
(3) H&H HAM (4) HTeA-U-HATTH
Options :

92090664449. 1
92090664450. 2
92090664451. 3
92090664452. 4

Question Number : 14 Question Id : 92090616313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T = 30 FEl T= i TEaH hIae (o [g%g U9, 00,377, 9aH TG0 2l 2|

(1) @&, T, Fael (2) oAt TG, T&el
(3) e, Fumm, f&@E (4) @|U, Tagan, f#E
Options :

92090664453. 1
92090664454. 2
92090664455. 3
92090664456. 4

Question Number : 14 Question Id : 92090616313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TN & 39 T =9 I Tg9H Hifae 9 f9%g 19.10.37, J96H 390 26t 2

(1) @0, TEgHA1, Sl (2) TelfE, TG, &l
(3) weifen, Famw, &g (4) @&, Tergan, s
Options :

92090664453. 1
92090664454. 2
92090664455. 3
92090664456. 4

Question Number : 15 Question Id : 92090616314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
form R 1 W @ i | TEen @ SuEed g e 87

(1) =it (2) Higreh
(3) wES (4) g9
Options :

92090664457. 1
92090664458. 2
92090664459. 3
92090664460. 4



Question Number : 15 Question Id : 92090616314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
form R 1 Rty @ 3 vEen @ wuErer wnfia fe e

(1) ieihmr (2) wiget
(3) ©ETH (4) Fomax
Options :

92090664457. 1
92090664458. 2
92090664459. 3
92090664460. 4

Question Number : 16 Question Id : 92090616315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

21, 35, 53, 76

(1) 105 (2) 109

(3) 101 (4) 99
Options :

92090664461. 1
92090664462. 2
92090664463. 3
92090664464. 4

Question Number : 16 Question Id : 92090616315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frfeifaa g@en 4 el Je Samsy

21, 35, 53, 75

(1) 105 (Z) 109

(3) 101 (4) 99
Options :

92090664461. 1



92090664462. 2
92090664463. 3
92090664464. 4

Question Number : 17 Question Id : 92090616316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafaa @ 9 v w5 3 7 ey fog ™ €1 o9 % amar s fewai &1 g9dieo

FY : A1 A= va ot Sl 1 v gaEt 21
e

(i) e 3 St S % @ 5= E)

(ii) AT T 1S q1S TE B

(i) HHT =1 U Hidenl 915 &l

(1) =a (i) AP &1 81 (2) a (i) T E@T Bl
(3) e (i) I (iii) SFL BT 2 (4) SH | IS AV A Bl
Options :

92090664465. 1
92090664466. 2
92090664467. 3
92090664468. 4

Question Number : 17 Question Id : 92090616316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafaa g 4 v 5w 3 &7 g fog ™ 81 o9 & anar w1 fewat &1 g9dieo

FUA : 1 FH v diad] el 6 uhEaE g gl
e

(i) Hmm 3 S Sl 2 e 2

(ii) T T g qE TE B

(i) HHT T T Hider |5 8l

(1) ae (i) @FL & 21 (2) ad (ii) L EMT 2
(3) hae (i) 3N (iii) AR BT 2| (4) A9 © I3 AV & il 2|
Options :

92090664465. 1
92090664466. 2
92090664467. 3
92090664468. 4

Question Number : 18 Question Id : 92090616317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafifigd w9 5 I 3 @-9RT § g & [EUROHl % AHR W awed W faEn
#Frfory 2R = fou T fameti O wd fawen @1 = Hifsm)

IheA : U SgUd HE1 A 99 @l gicedl i gl H FEAI-TE T A % T Fere W
Tt 9= o 2

-

() =i FHAIRET % U W W Fee glaut 21

(i) TS FHANET 4 Teel Yieedl Hi AT Bl §eHE IR G-I, HI T @i 91|
(1) e (i) & wep-ed 2

(2) e (i) @ wepI-Tfed 2

(3) A4 () A E (i) TH-Ued B

(4) @HT () 3 (i) wehr-Tfeq 2

Options :
92090664469. 1

(W%



92090664470. 2
92090664471. 3
92090664472. 4

Question Number : 18 Question Id : 92090616317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ffcifigd w9 5 I 3N @-9R0T & 8 8 [EUROHA] % HHR W awed W aEn
#hifore 3R = feu o fomeui & =& fawew 1 === Hifam)

Iehed : U FgUsid HHH1 3 99 I gidedi Hl gl F EAT-92 T H % T8 FeHE T
CEUSIRI eI

tﬁ-m:

(i) =t FH=EIRET % 99 9 W See giaur 2|

(ii) fereRTY F=TET 4 TEd gieedl 6 gl $1 e I gEA1-12, g1 W @l 91|
(1)  =had (i) & wH-1Ea 2l

(2) e (i) & IR-Ted 2

(3) F4r () 3 E (1) TE-1Ed 2

(4) M (i) 3R (i) TPT-Tfe E

Options :

92090664469. 1

92090664470. 2

92090664471. 3
92090664472. 4

Question Number : 19 Question Id : 92090616318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RHF I VEIVHE IS TEIRF 0T SBI VH T W S 5F Y &I VH Y H e
=Y 27

(1)  wdrsit (2) 9l
(3) dE-TYg (4) qF-99
Options :

92090664473. 1
92090664474. 2



92090664475. 3
92090664476. 4

Question Number : 19 Question Id : 92090616318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RHFTTH VEI VR AE TEIRFI A SEI VH T WEI ST 91 YEI VH Y H el
A B ?

(1) st (2) it
(3) dE-TY (4) qa-9Y
Options :

92090664473. 1
92090664474. 2
92090664475. 3
92090664476. 4

Question Number : 20 Question Id : 92090616319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T2 TALlhAl T Ufth H o4l &1 HHe 919 H g9d FIH T AR 900 g § Fad &6 W
=31 81 39 TF1 o &9 gH TSihal 93l &| Fol foha- e(hdl Jiad H =l 87

(1) 18 2) 27
(3) 28 (4) 29
Options :

92090664477. 1
92090664478. 2
92090664479. 3
92090664480. 4

Question Number : 20 Question Id : 92090616319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



F9 @elRAl UH Uit § o431 | HHen 919 § gHd TH T AR i g § we ©H W
a3t 81 3 ST % &9 ¢F @iSfRAl adl £ Fel feha-l oigfehal ufed § adi 27

(1) 18 2) 27
(3) 28 (4) 29
Options :

92090664477. 1
92090664478. 2
92090664479. 3
92090664480. 4

Question Number : 21 Question Id : 92090616320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

K @ fom ol & feru fgema e 20 - Ko+ K =0 % 6l 99 8017

(1) 8,4 (2) 4,4
(3) 0, 4 4y 0.8
Options :

92090664481. 1
92090664482. 2
92090664483. 3
92090664484. 4

Question Number : 21 Question Id : 92090616320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

K % T w1 % foru fgema |t 20 - K+ K =0 % 961 99 811 7

(1) 8,4 (2) 4.4
(3) 0, 4 (4) 0.8
Options :

92090664438]1. 1
92090664482. 2
92090664483. 3
92090664484. 4

Question Number : 22 Question Id : 92090616321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U JEas i 100 Uil @1 % ged 3 s i 60 ufadi & fashd gew % aue 2| oy
71 g1+ =1 gfdea 2 -

o

(D Gﬁ%% @) fﬁé%
(3) 67% (4) 66%
Options :

920906644385. 1
92090664486. 2
92090664487. 3
92090664488. 4

Question Number : 22 Question Id : 92090616321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U Tk i 100 WiaE &1 w9 god 36 gEas i 60 gfadl & fasa gew % suet 81 oy
71 g1+ o1 Sfdera & -

2
1 66—="% 2 6710
) 3 (2) =
(3) 67% (4) 66%
Options :

920906644385. 1
92090664486. 2
92090664487. 3
92090664488. 4

Question Number : 23 Question Id : 92090616322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A, B, C 3R D U% 9EREM JF *d 81 ‘A’ Fa TN & U (928 9 1 JieH T 8, B
U II91E 9P H AEH AT 8, ‘O TH-qrEd 9 H1 IFEE Ha g AT 39 qeE D
FAAT &1 9 39 919 W HENd Bid 8 b d 379 gt & 39e o € oy o | i s oy
%.6,000 & & 384 D’ &1 907 feheaAT 27

(1) T2.000 (2) T1,600
(3) T 1.200 (4) ¥ 1,300
Options :

92090664489. 1
92090664490. 2
92090664491. 3
92090664492 4

Question Number : 23 Question Id : 92090616322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, B, C 3R D U% 9EREM JF *d 81 ‘A’ Fa TN & U (928 9 1 JieH T 8, B
U II91E 9P H AEH AT 8, ‘O TH-qrEd 9 H1 IFEE Ha g AT 39 qeE D
FAAT &1 9 39 919 W HENd Bid 8 b d 379 gt & 39e o € oy o | i s oy
%.6,000 & & 384 D’ &1 907 feheaAT 27

(1) T2.000 (2) T1,600
(3) T 1.200 (4) ¥ 1,300
Options :

92090664489. 1
92090664490. 2
92090664491. 3
92090664492 4

Question Number : 24 Question Id : 92090616323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I P H Q@ 40 ToF1 /= i 7fa & 96 Far & 37 a"E P A% A9 T 50% STt
witedr &1 Y AT | 39kl 3fTEd i R 27

(1) 36 T /e (2) 45 Tt f7a
(3) 48 forfi faar (4) 50 foprft /e
Options :



92090664493. 1
92090664494. 2
92090664495. 3
92090664496. 4

Question Number : 24 Question Id : 92090616323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 P E Q% 40 TFft/=er it fa & arn +2ar & 37 999 P 9% 31941 1 50% T2
witear 1 Tt Amn | 3t 3itaa i R 27

(1) 36 Tt /ga (2) 45 Tt /=
(3) 48 fodt/ga (4) 50 Tt /gen
Options :

92090664493. 1
92090664494. 2
92090664495. 3
92090664496. 4

Question Number : 25 Question Id : 92090616324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g ey ‘A’ 3R B Tt Fve = w4 fime 3 6 fime O wiw €1 afe s gF el w6
aii-ail ¥ vEh-us e % fou sem 9 (99 A 1 9 IoE Il 8) 91 U8 H W
T foha-T Tag e ?

(1) 4 fiFe 48 ¥s (2) 3 fime 20 ¥Fs
(3) 4 Fme 50 o= (4) 3 fme 30 9es
Options :

92090664497. 1
92090664498. 2
92090664499. 3
92090664500. 4

Question Number : 25 Question Id : 92090616324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 Uy ‘A’ 3R B Tt Fve @ w4 faee 3R 6 fime @ w21 afe g | wiedl &
AHI-FH | TH-Th He & fole Teme A1 (59 ‘A’ I 9gcl 9eldl 9l €) @l HU i 9=
T fere wma @y

(1) 4 fiFe 48 Ts (2) 3 fiFe 20 TFs
(3) 4 fime 50 B (4) 3 fime 30 des
Options :

92090664497. 1
92090664498. 2
92090664499. 3
92090664500. 4

Part B: Linguistics

Section Id : 920906324
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906528
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090616325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Translation between two languages is known as

{A) Interlingual Translation
(B) Intersemiotic Translation
(C) International translation
(D Intralingual Translation
(E) Interlinear Translation

Choose the most appropriate answer from the options given below.
(1) {B) and (E) only

(2) (A) only

(3) (C), (E) only

(4) (A), (B) and (D) only

Options :

92090664501. 1
92090664502. 2
92090664503. 3
92090664504. 4

Question Number : 26 Question Id : 92090616325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



21 9T & S % G i FHaE AT 8

(A)
(B)
(©)
(D)

(E)

A IYF AR
3 Hehfdeh A91g
HAL I
SIS IS
A IS

e few v famedi @ @ W& I 1 994 Hifw

(1) %aa (B), (E)

(2) e (A)

(3) aw (C), (E)

(4) e (A), (B) 3 (D)
Options :

92090664501. 1
92090664502. 2
92090664503. 3
92090664504. 4

Question Number : 27 Question Id : 92090616326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is TRUE?

(1) A word and its meaning must have a one-to-one Correspondence in natural language

(2) A natural language contains a finite number of sentences

(3) A word and its meaning must have a many-to-one Correspondence in natural
language

(4) A natural language has an arbitrary correlation between a word and its meaning

Options :

92090664505. 1
92090664506. 2



92090664507. 3
92090664508. 4

Question Number : 27 Question Id : 92090616326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafaa 5 % SH-91 FY9 §9 87

(1) wThfae 9191 & 9o 3 35 Y § TER ATEId AT 2
(2) Tehfash W1 § Al i HE |ifhd @ 2

(3)  WIehldes WTST H 9reg 3R Iq+ HY H WER FHHRA A-aH 2|
(4)  Tehices W1 ¥ weg 3 6k 3 H IaTlche Hay A 2|

Options :

92090664505. 1
92090664506. 2
92090664507. 3
92090664508. 4

Question Number : 28 Question Id : 92090616327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  The sentence “Karan arrived the city” is an ungrammatical sentence of
English
Reasons (R) : The verb “arrive” iz an intransitive verh.

In the light of the above statements, choose the correct answer from the options given below :

(1 Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(1) (A) is false but (R) is true

Options :
92090664509. 1



92090664510. 2
92090664511. 3
92090664512. 4

Question Number : 28 Question Id : 92090616327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e &1 ®uA fqu T § : Us AfuHe (Assertion (A)) % ®9 ¥ fafga & a1 gaU 396 RO
(Reasons (R)) % #9 4 :

s (A): 9199 “Karan arrived the city” T g 301 9199 21
=R (R) o “Arrive” U HHUS 5T 2

ITUh HYA & el °, = for 7 faswedi 1 § 999 I9g® T 1 T4 HI0

()  (A) 3R (R) TF1 981 € 311 (R), (A) F 9¢1 =wen @

(2)  (A) 3R (R) SFi @l &, wifshd (R), (A) st @l =ame 78 8
(3) (A FE 2, wfh (R) wél 7 2

(4) (A =E 7€ 2, @i (R) @El

Options :

92090664509. 1
92090664510. 2
92090664511. 3
92090664512. 4

Question Number : 29 Question Id : 92090616328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A) ; The word “neighourshood” is an ill-formed word of English

Reasons (R) : The derivational morpheme must be closer to the root
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
{3} (A) is true but (R) is falze
{4) {A) is false but (R) is true
Options :
92090664513. 1
92090664514. 2

92090664515. 3
92090664516. 4

Question Number : 29 Question Id : 92090616328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= &1 9 fou 7 8 : wF 3fEEE (Assertion (A)) % ®9 1 foafiga & @ g@u 3@+ FAW
(Reasons (R)) & ®9 7 :

FfiEreA (A) : 3T w58 ‘Neighbourhood’ U 3fed w1 21
FA (R) : e ®9Y, G & A9 U9 &1 2
ITRE Y o ATerh °, A fou mu fowedl § @ w99 IugE I H 99 Hifag

(1) (A 3R (R) THT =& £ 30 (R), (A) F 5l =arem 2

(2) (A) 3R (R) gHi @&l &, wfhd (R), (A) 1 @l =amean 78 8
(3)  (A)@El 8, =i (R) wél 8 2

(4) (A =E TE 8, wfT (R) 961 8

Options :

92090664513. 1
92090664514. 2



92090664515. 3
92090664516. 4

Question Number : 30 Question Id : 92090616329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.
Assertion (A) :  Primate Communication cannot be considered Language’.
Reaszsons (R) : Primate Communication does not satisfy the criteria of displacement from

the design features of language by Charles F. Hockett

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Options :

92090664517. 1
92090664518. 2
92090664519. 3
92090664520. 4

Question Number : 30 Question Id : 92090616329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= g1 ®YF fGU T B : U AMHEA (Assertion (A)) % ®9 ¥ fofga 8 a1 gaU 396 FRO
(Reasons (R)) F ®9 7 :

e (A) : OFEaE SU9o T 9T i Aol § 98 @ = g

A0 (R): WFIW HYYM SI9iE TR, Bhe gl Wiodied  “Design features of

Language” & fa&ams & WMgs &1 Hqse A8 &l

I HYF % e °, A fou mu fawedi § @ wed IugeE I # 99 Hifan

(1)
2)
(3
(4)

Options :

(A) 3R (R) <1 @l & 3R (R), (A) =1 =ét =amea 2

(A) 3R (R) 2F1 781 7, &t (R), (A) =i w6t =me 72 &
(A) Wl &, =i (R) @él & 2

(A) wé 7 &, @i (R) 981 2

92090664517. 1
92090664518. 2
92090664519. 3
92090664520. 4

Question
Question

Number : 31 Question Id : 92090616330 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match List I with List 1T :

List I List I1
(A Kuwi (I} Indo-Arvan
(B) Angika (I} Sino-Tibetan
(Cy Mizo (III} Dravidian
(D) Sora (IV) Munda Language

Choose the correct answer from the options given below :

(1) (A)-M. B)-aD), (C)-(IID), (D)-(IV)
(2)  (A)-0ID. (B)-aD), (C)-(D. (D)-(IV)
(3)  (A)-(D), (B)-(D), (C)-(IV), (D)-(1I)
4)  (A)-(D, (B)-(I), (C)-(II), (D)-(IV)

Options :

92090664521. 1
92090664522. 2



92090664523. 3
92090664524. 4

Question Number : 31 Question Id : 92090616330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl-1 % |y g=-11 =1 gofeq $Hifa
-1 11

(A) i @) -3

(B) =fiEw (I1) =i et

(C) fsit (I11) Zfafez

(D) =m (IV) g&1 W

g few mu famedi 9 € wd I w1 999 i

(1) (A)-(D), (B)-(ID), (C)-(I1D), (D)-(IV)
(2)  (A)-(ID), (B)-(ID), (C)~(I), (D)-(IV)
(3)  (A)-aI), (B)-(D), (C)-(IV), (D)-(I1)
(4)  (A)-(ID), B)-(D), (C)-(1), (D)-aAV)

Options :

92090664521. 1
92090664522. 2
92090664523. 3
92090664524. 4

Question Number : 32 Question Id : 92090616331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Retroflex sounds are not found in which of the following languages?

(1) Hindi (2) Malayalam
{3) Kharia (4) Meiteilon
Options :

92090664525. 1
92090664526. 2
92090664527. 3
92090664528. 4



Question Number : 32 Question Id : 92090616331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gy A Fefafad 5 g am § 78 a6l S 87

(1) fe= (2) HerETem
(3) w@fem (4) Hfeea

Options :

92090664525. 1
92090664526. 2
92090664527. 3
92090664528. 4

Question Number : 33 Question Id : 92090616332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following languages are spoken in North-East region of India?

(A) Rabha

(B} Tulu

(C) Bodo

iy Telugu

(E) Mizo

Choose the correct answer from the options given below :
(1) (A) and (E) only

(2) (A) and (C) only

(3 (A), (C) and (E) only

(4) (C) and (D) only

Options :

92090664529. 1
92090664530. 2
92090664531. 3
92090664532. 4

Question Number : 33 Question Id : 92090616332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frferfiga § - W WRA % IeR-TE &9 | del i a2y

(A) T
B) T4
(C) =
D) @
(E) fo=i

i fou mu faseai @ ® |E I 1 994 HifAU
(1) e (A) 301 (E)

(2) e (A) I(C)

(3) e (A), (C) 3R (B)

(4) == (C) 3R (D)

Options :

92090664529. 1
92090664530. 2
92090664531. 3
92090664532. 4

Question Number : 34 Question Id : 92090616333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement | : A Proto language is a language that has been reconstructed using the

comparative method.

Statement 11 : Written evidence is available for Proto language.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement Il are correct

(2) Both Statement I and Statement Il are incorrect

{(3) Statement I is correct but Statement I is incorrect
(4) Statement I is incorrect but Statement Il is correct
Options :

92090664533. 1
92090664534. 2
92090664535. 3
92090664536. 4

Question Number : 34 Question Id : 92090616333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & o fer e E

FYA 1 U A W GE B A qoAIHS 91y § gAEEd g8 8

w11 AT 9T & 9& ° forfiga @1eg 3uerey 2|
ITE FIF = Al 4, {9 G U fFFedi § ¥ F91 I0IE I H 951 0

(1) &y [ 3R 11 3H 99 &
(2) =¥ 1 3 11 g e &

(3) T 199 2, Ak =97 11 3759 8

(4) HFA 1 35A B, wifhd HY [1 94 &



Options :

92090664533. 1
92090664534. 2
92090664535. 3
92090664536. 4

Question Number : 35 Question Id : 92090616334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List I List 1T
(A) Urdu () Gurumukhi
(B) Punjabi (II) Shahmukhi
(C) Hindi (III} Roman
(D) English (IV) Devanagiri

Choose the correct answer from the options given below :

(1) (A)-(D, (B)-(I), (C)-(IV), (D)-(I1I)
(2) (A)-(I1D), (B)-(1), (C)-(I1), (D)-(IV)
(3) (A)-(D), (B)-(IT), (C)-(IT), (D)-(IV)
(4)  (A)-I), (B)-AV), (C)-(I), (D)-(ID)

Options :

92090664537. 1
92090664538. 2
92090664539. 3
92090664540. 4

Question Number : 35 Question Id : 92090616334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TH1-1 % w19 g=h-11 1 e $ife .

Ti-1 g1l
(A) 3] () TegE
(B) s (IT) =i
(C) fe=i (I1D) T=
(D) Fsh (IV) SarHd

T few mu fawedl 4 & @l 39 =1 =999 i

(1) (A)-D), B)-(D), (C)-AV), (D)-(111)
(2 (A)-aID, B)-@), (C)-(IID, (D)-(IV)
(3 A-), (B)-(ID), (C)-(I1D), (D)-(IV)
(4)  (A)-III), (B)-AV), (C)-(D), (D)-(1I)

Options :

92090664537. 1
92090664538. 2
92090664539. 3
92090664540. 4

Question Number : 36 Question Id : 92090616335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Translation of any audio-visual medium such as films involves

(A) Context

(B) Dubbing

(C) Sub titling

(I Back-Translation

(E) Contrastive analysis

Choose the most appropriate answer from the options given below,
(1) (B) and (E) only

(2) (B) and (C) only

(3 (B), (C) and (E) only

(4) (A) and (D) only

Options :

92090664541. 1
92090664542. 2
92090664543. 3
92090664544. 4



Question Number : 36 Question Id : 92090616335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot off gva-e qurefl 1 3HIG ... &1 T guIEd HLd1 &
(A) wed

(B)  39sfiies e

(C) Susim=h

(D) 9¥d - 3

(E) =afaiht - fageram

i fou o fasreui ° © 9 I F1 999 Hifau
(1) %A« (B) 31 (E)

(2) Fad (B) 31 (C)

(3) 4 (B), (C) 3R (E)

(4) Fa (A) 3R (D)

Options :

92090664541. 1
92090664542. 2
92090664543. 3
92090664544. 4

Question Number : 37 Question Id : 92090616336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following languages can be classified under Romans languages?

(1) Duteh (2) German
(3) Spanish (1) Englsh
Options :

92090664545. 1
92090664546. 2
92090664547. 3



92090664548. 4

Question Number : 37 Question Id : 92090616336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fraferfiga & = fopg v wmiati &t 2oft § sefieea T < wepeT 27
(1) == (2)
(3) Hifm (4) =

Options :

92090664545. 1
92090664546. 2
92090664547. 3
92090664548. 4

Question Number : 38 Question Id : 92090616337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following North-Eastern languages in terms of population of Speakers.

(A) Nissi
(B) Adi
(C) Khasi
(D) Garo

Choose the correct answer from the options given below :
(1 (A), (D), (B), (C)
2 (O (A), (D), (B)
(3 (O (B), @), D
(4) (C), (D), (A), (B)

Options :

92090664549. 1
92090664550. 2
92090664551. 3
92090664552. 4

Question Number : 38 Question Id : 92090616337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fr=ferfiga Ier-qaf aTonai 1 39 SHEEE (F9T) & Sy § safem Hhifau)
(A) T

(B) wdl
(C) @&t
(D) T

e feu mu fawedi O o 98 39 =1 =994 Fifau .

(1) @A), D), (B), (C)
@ (). (A), (D), (B)
(3)  (C), (B), (A), (D)
(1)  (C), (D), (A). (B)

Options :

92090664549. 1
92090664550. 2
92090664551. 3
92090664552. 4

Question Number : 39 Question Id : 92090616338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the followings i1s not a branch of the Indo-European language family?

(1) Hellenic (2)  Austro-Asiatic
(3) Albanian (4) Italian
Options :

92090664553. 1
92090664554. 2
92090664555. 3
92090664556. 4

Question Number : 39 Question Id : 92090616338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 9197 UHER 1 U 9l Heteitad § § &9 | 98 87

(1) =t (2) FgI-uhRE
(3) Foetars (4) seformm
Options :

92090664553. 1
92090664554. 2
92090664555. 3
92090664556. 4

Question Number : 40 Question Id : 92090616339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of these languages is not listed in the 8" schedule of the Constitution?

(1) Urdu (2) Kumaoni
(3) Santhali (4) Bodo
Options :

92090664557. 1
92090664558. 2
92090664559. 3
92090664560. 4

Question Number : 40 Question Id : 92090616339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hfeu 6t S ST § 30 ° HiA H 9 geeg 764 8 e

(1) 39 (2) FaTSA
(3) == (4) ==l
Options :

92090664557. 1
92090664558. 2
92090664559. 3
92090664560. 4

Question Number : 41 Question Id : 92090616340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List I List 11

(A) Incorporating of loan words from one (I) Bilingual
language to other

(B) The systematic alternation between (II) Borrowing
language system in discourse

(C) Innovation of new words in a (III) Coinage
language

(D) Ability to speak two languages with (IV) Code-switching
native proficiency

Choose the correct answer from the options given below :

(1) (A)-(ID), (B)-(IV), (C)-(I11), (D)-(D)
(2) (A)-(ITD), (B)-(I1), (C)-(IV), (D)-(T)
(3) (A)-(I1D), (B)-(IV), (O)-(I). (D)-(ID)
(4) (A)-(IV), (B)-(I1I), (C)-(I), (D)-(1I)

Options :

92090664561. 1
92090664562. 2
92090664563. 3
92090664564. 4

Question Number : 41 Question Id : 92090616340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



THl-1 % w19 g=h-11 1 oo $ife .

T=i-1 -1
(A) Frft T & weei B R e (D) fewmd
(B) W1 WoTed] i Wifed ¥ =Efem (1) 3eH

TfeEg
(C) 91 § 99 Y=ei 1 Faudd (111 famior

(D) < wdoET & =@y g Al (IV) S8 9iEad
=1 Fie I &

f= feu mu famedl @ o w8 39 =1 =994 Sifdu .

(1) (A)-aD), (B)-IV), (C)-(1I), (D)-I)
(2) (A)-dID, (B)-II), (C)-AV), (D)-(D)
(3)  (A)-(ID), (B)-(IV), (C)-(), (D)-(I)
(4)  (A)-V), (B)-(I1I), (C)-(D), (D)-(T)

Options :

92090664561. 1
92090664562. 2
92090664563. 3
92090664564. 4

Question Number : 42 Question Id : 92090616341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | :  The words ‘dark’ and ‘light’ are antonyms of each other

Statement IT :  The words ‘foul” and ‘fowl’ are synonyms of each other
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement 11 are false
(3} Statement I is true but Statement 11 is false

(4) Statement I is false but Statement I is true

Options :

92090664565. 1
92090664566. 2
92090664567. 3
92090664568. 4

Question Number : 42 Question Id : 92090616341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el g Sy feu T E

F9 [: 7% ‘dark’ 37 ‘light’ T gat & faeim &)

FeA 11 : 7% ‘foul’ 3R ‘fow] T TEK & AT &1

I FHYT 5 IATeS o, [ for U faFedi § ° w99 39w I H 951 i
(1) 95 13 11 H 99 &

(2) A 1 3R [ gFi 7Terd &

(3) Ty 199 &, ek ya 11 3759 8
(4) T 1389 2, dfd %o [[ 59 8

Options :
92090664565. 1



92090664566. 2
92090664567. 3
92090664568. 4

Question Number : 43 Question Id : 92090616342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The word “Brunch” is an example of

(1) Backformation (2) Clipping
(3) Conversion (4) Blend
Options :

92090664569. 1
92090664570. 2
92090664571. 3
92090664572. 4

Question Number : 43 Question Id : 92090616342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=2 ‘Brunch’ &0 £

(1) HEvEges A (2) s
(3) =9uiads (4) =fEE
Options :
92090664569. 1
92090664570. 2

92090664571. 3
92090664572. 4

Question Number : 44 Question Id : 92090616343 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following sentences is ‘that’ functioning as a pronoun

(1) That I will succeed is certain
(2) I assumed that they would reach on time
(3) This is the player that [ wanted to meet

(4) That tennis player is the best one in my opinion



Options :

92090664573. 1
92090664574. 2
92090664575. 3
92090664576. 4

Question Number : 44 Question Id : 92090616343 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafaa a=ai § 9 fead ‘that’ w/eg =51 397 9o & &9 7 far T 2:

(1) That I will succeed is certain.
(2) I assumed that they would reach on time.
(3)  This is the player that I wanted to meet.

(4) That tennis player is the best one in my opinion.

Options :

92090664573. 1
92090664574. 2
92090664575. 3
92090664576. 4

Question Number : 45 Question Id : 92090616344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following does not contain a non-finite clause?

(1) Sonu wished that she was rich (2) Ira considers me to be intelligent
(3) Raj is likely to lose (4) Ajay seems to like the city
Options :

92090664577. 1
92090664578. 2
92090664579. 3
92090664580. 4

Question Number : 45 Question Id : 92090616344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



feferiga ami § § for stfad 39 78 27

(1) Some wished that she was rich. (2) Ila considers me to be intelligent.

(3) Raj is likely to lose. (4) Ajay seems to like the city.

Options :

92090664577. 1
92090664578. 2
92090664579. 3
92090664580. 4

Question Number : 46 Question Id : 92090616345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The word ‘Lighthouse’ is an example of which type of compound?

(1) Copulative (2) Exocentric
(3) Appositional (4) Endocentric
Options :

92090664581. 1
92090664582. 2
92090664583. 3
92090664584. 4

Question Number : 46 Question Id : 92090616345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A % weg ‘Lighthouse’ form o9m™ 71 32007 2:

1) = (2) wEsife
(3) =H 4™ (4) aoge
Options :

92090664581. 1
92090664582. 2
92090664583. 3
92090664584. 4

Question Number : 47 Question Id : 92090616346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The morpheme “-ment” in the word “government” is an example of

(1) a prefix (2) a suffix
(3) an infix {(4) a circumfix
Options :

92090664585. 1
92090664586. 2
92090664587. 3
92090664588. 4

Question Number : 47 Question Id : 92090616346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wee ‘Government’ (T9H~=) ¥ 39 - ‘ment’ (F=) ISTET &:

() 39 (2) 9o
(3) A/ g (4) ufreE
Options :

92090664585. 1
92090664586. 2
92090664587. 3
92090664588. 4

Question Number : 48 Question Id : 92090616347 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many morphemes are there in the word “unhappiness™

(1) five (2) three
(3) two {4) one
Options :

92090664589. 1
92090664590. 2
92090664591. 3
92090664592. 4



Question Number : 48 Question Id : 92090616347 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T % W& ‘Unhappiness’ § faw =fim &7

(1) u= (2)
3 (4) uH
Options :

92090664589. 1
92090664590. 2
92090664591. 3
92090664592. 4

Question Number : 49 Question Id : 92090616348 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The verb ‘babysit’ came from the noun ‘babysitter’. This type of word formation is called

(1) blending (2) compounding
{3) back formation {(4) inflectional
Options :

92090664593. 1
92090664594. 2
92090664595. 3
92090664596. 4

Question Number : 49 Question Id : 92090616348 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Baby Sit’ fsam #i 3mf, 851 ‘Baby Sitter’ & &3 21 380 YR & Weg- AW I Fad @

(1)  =fasgor (2) HHTHHT

(3) HEEEe® A (4) fawafaasm
Options :

92090664593. 1
92090664594. 2
92090664595. 3



92090664596. 4

Question Number : 50 Question Id : 92090616349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick the odd one out

(D happily (2) sadly
(3) angrily {4) must
Options :

92090664597. 1
92090664598. 2
92090664599. 3
92090664600. 4

Question Number : 50 Question Id : 92090616349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fr=ferfaa o & faug =i gfw:

(1) Happily (2) Sadly

(3)  Angrily (4) Must
Options :

92090664597. 1
92090664598. 2
92090664599. 3
92090664600. 4

Question Number : 51 Question Id : 92090616350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IPA stands for

(1) International Phonetic Association
(2) International Phonetic Alphabet
3 International Phone Association

(4) International Phone Alphabet

Options :
92090664601. 1



92090664602. 2
92090664603. 3
92090664604. 4

Question Number : 51 Question Id : 92090616350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TPA =7 0 719 91 87

(1) International Phonetic Association
(2) International Phonetic Alphabet
(3) International Phone Association

(4) International Phone Alphabet

Options :

92090664601. 1
92090664602. 2
92090664603. 3
92090664604. 4

Question Number : 52 Question Id : 92090616351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is FALSE?

(1) All languages have stops

(2) Typologically, the most common stops are [p, t, k,]

(3) Languages with affricates also have fricatives

(4) Languages with stops also have fricatives
Options :

92090664605. 1
92090664606. 2
92090664607. 3
92090664608. 4

Question Number : 52 Question Id : 92090616351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Trafafaa amm § s-a1 3@ 87

(1) =t umT § i oot @fm g 2)
(2)  Herad, seayar o e @i (p, t, k)
(3) T amr 8 vosi-gedi st gt § 390 g @t o g6 €
(4)  fam g i -ooef s 2t 8 30 gt @t o 26 2
Options :
92090664605. 1
92090664606. 2

92090664607. 3
92090664608. 4

Question Number : 53 Question Id : 92090616352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term comes from Sanskrit word meaning ‘joining’

(1) Remote structure (2) Paradox
(3) Sandhi (4) Vibhakti
Options :

92090664609. 1
92090664610. 2
92090664611. 3
92090664612. 4

Question Number : 53 Question Id : 92090616352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥ U (Y=) Wi Hha veg & fou 9w E, fomen s gdea (v w faemn) 2 g, A
FHEA 47

(1) gw |e= A1 (2) fetramamd
(3) M (1) fewfa
Options :

92090664609. 1
92090664610. 2
92090664611. 3
92090664612. 4



Question Number : 54 Question Id : 92090616353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The pair of English words ‘save’ (seiv) and ‘safe’ (seif) are examples of

(1) minimal pair (2) minimal morpheme
(3) maximal pair (4) maximal morpheme
Options :

92090664613. 1
92090664614. 2
92090664615. 3
92090664616. 4

Question Number : 54 Question Id : 92090616353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FIUST eE] T AT ‘save’ (seiv) 3 ‘safe’ (seif) ITEWT &:

(1)  3c9aq g9 (2) Fouaq FUH
(3) Afuwan Fm (4) SAfeepan =fm
Options :

92090664613. 1
92090664614. 2
92090664615. 3
92090664616. 4

Question Number : 55 Question Id : 92090616354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The reconstructed Indio-European word ‘sab’, meaning 5uice’ changed to sap in Modern
English. The sound change, here, is part of
(1) Grimm's Law (2) Lyman's Law

(3 Verner's Law (4) Grassman’s Law

Options :

92090664617. 1
92090664618. 2
92090664619. 3



92090664620. 4

Question Number : 55 Question Id : 92090616354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H: Hifad YT W5 “Sab’ 39 9@, AYHE ST H Sap & T TF @i THadT GiHAT

=T 3T B
(1) =i (2) wETH @
(3) = (4) TmEE

Options :

92090664617. 1
92090664618. 2
92090664619. 3
92090664620. 4

Question Number : 56 Question Id : 92090616355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two forms with distinct meanings that differ by only one segment found in the same position
in each form is known as

(1) Diphthong (2) Minimal pair
(3) Mid vowels {4y Modifier
Options :

92090664621. 1
92090664622. 2
92090664623. 3
92090664624. 4

Question Number : 56 Question Id : 92090616355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9o 31T % WY 9 ° 9 S UH-gEl ¥ I 9 A1 8, 79 99 (6 91 Th &l @S IR TH
& 3 H B g

(1) wga @/ fgen (2) Feuaq IH
(3) W = an (4) T



Options :

92090664621. 1
92090664622. 2
92090664623. 3
92090664624. 4

Question Number : 57 Question Id : 92090616356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following vowel sounds in terms of vowel height from low to high

(a)  [a]
By [2]
() [U]
(D) (D]

Choose the correct answer from the options given below :

(1) (A), (B), (D), (C)
(2) (C). (D), (B), (A)
(3)  (B), (A), (C), (D)
(4 (A), (C), (B), (I)

Options :

92090664625. 1
92090664626. 2
92090664627. 3
92090664628. 4

Question Number : 57 Question Id : 92090616356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



@ 4 H 3w | Ffafea =0 &1 9 5 0 % HH § F;

A)  [a]
B) 3]
(€  [u]
(D) [D]

Hr= feuw o fawedi # € W@ 30 =1 =1 i

(1) (A, (B), (D), (C)
(2)  (C), (D), (B), (A)
(3)  (B), (A), (C), (D)
4 &), (©), ®B), (D)

Options :

92090664625. 1
92090664626. 2
92090664627. 3
92090664628. 4

Question Number : 58 Question Id : 92090616357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following places of articulation in the order of front to back

(A) Alveplar
(B) Dental

(C) Labial

(D) Glottal

(E) Pharyngeal

Choose the correct answer from the options given below :

(1) (C), (A), (B), (D), (E)
(2) (C), (B). (A), (D), (E)
(3) (C). (A, (B), (E), (D)
(4) (C). (B), (A), (E), (D)
Options :

92090664629. 1
92090664630. 2
92090664631. 3



92090664632. 4

Question Number : 58 Question Id : 92090616357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Trafefiga F=mor T 1 39§ yvg =Saied = -

(A) T

(B)

(C) 33y
(D) TEEEEE!
(E) we=

= feu U fasredl O | Hé I F1 994 HI
() (C), (A), (B), (D), (E)
(2) (C), (B), (A), (D), (E)
(3)  (C), (A), (B), (E), (D)
(4)  (C), (B), (A), (E), (D)

Options :

92090664629. 1
92090664630. 2
92090664631. 3
92090664632. 4

Question Number : 59 Question Id : 92090616358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 15 labelled as Assertion A and the other are labelled as

Reason R.
Assertion (A) In some languages, syllables with coda are prohibited.
Reasons (R) : Coda consonants are not obligatory in any language.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2 Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) 18 true but (R) 15 false

(4) (A) 18 falze but (R) 18 true

Options :

92090664633. 1
92090664634. 2
92090664635. 3
92090664636. 4

Question Number : 59 Question Id : 92090616358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= &1 FuA fqu e § : v 3freud (Assertion (A)) % w9 ¥ fafigd & 41 guu 38 A
(Reasons (R)) & =9 ¥ :

AfFH (A) . TS IS § 3909 qfeqatad 2|
=T (R) : S foRdt o wamy § wfEe 98 21

ITE FHIF & AT 4, {9 fGr U fGFedi § ¥ T99 I9gE I H 951 Hifag

(1)  (A) 3R (R) g1 541 & 3R (R), (A) i gé == &
(2) (A) 3R (R) St wét &, wifeh (R), (A) <t @& =amen = 2
(3) (A @@ 2, wfera (R) & 78 2
(4) (A @& 7 2, sl (R) @81 8
Options :
92090664633. 1

92090664634. 2
92090664635. 3



92090664636. 4

Question Number : 60 Question Id : 92090616359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List I List 1T
(a) p () Alveolar
(B) k (I) Velar
OC t (III) Bilabial
D v (IV) Labiodental

Choose the correct answer from the options given below :

(1) (A)-(D, (B)-OV), (C)-(11), (D)-(D)
(2)  (A)-ID, (B)-aD), (C)-(D, (D)-AV)
(3)  (A)-D), (B)-(I), (C)-(I1I), (D)-(IV)
(4)  (A)-O), (B)-(II), (C)-(I1I), (D)-(IV)

Options :

92090664637. 1
92090664638. 2
92090664639. 3
92090664640. 4

Question Number : 60 Question Id : 92090616359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fei-1% =19 g-11 &1 faems $ifse

-1 -1
(A) p O aF
B) k (I) %A
i (I11) fg-zieza
D) v (IV) gdrea

e feu mu fawei 9 9 @@ I3 w1 959 i

(L) (A)-(ID, (B)-AV), (C)-(I), (D)-()
(2)  (A)-aID, (B)-aI), (C)-(D), (D)-(IV)
3 Q)-aD), B)-(D), (C)-(1I), (D)-(IV)
4)  A)-(I), (B)-(ID), (C)-(11I), (D)-(IV)

Options :

92090664637. 1
92090664638. 2
92090664639. 3
92090664640. 4

Question Number : 61 Question Id : 92090616360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List I List I
(A) Conjunction (I} Some
(B) Quantifier (IT} That
()  Determiner (I1Ty Hawve
(D) Auxiliary (IV) But

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(D), (C)-(1D), (D)-(I1L)
(2) (A)-(ID), (B)-(I), (C)-(I1I). (D)-(IV)
(3) (A)-(D), (B)-(ID), (C)-(IV), (D)-(11I)
(4) (A)-(IV), (B)-(III), (C)-(D), (D)-(I)

Options :
92090664641. 1
92090664642. 2



92090664643. 3
92090664644. 4

Question Number : 61 Question Id : 92090616360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

11 % | g 11 %1 faem ifa
H=l-1 =111
(A) HI=H (I) Some
(B) uiHmENS (I) That
(C) Tt (I1I) Have
(D) =wEE=+ (IV) But

g feu o fawewi 9 ° w8 I w1 999 i

(1)  (A)-(V), (B)-(D), (C)-(II), (D)-(11I)
(2)  (A)-dD), B)-(D), (C)-(11I), (D)-IV)
(3) (A1), (B)-(ID), (C)-(IV), (D)-(1L)
(4)  (A)-V), (B)-(1D), (C)-(D), (D)-(I)

Options :

92090664641. 1
92090664642. 2
92090664643. 3
92090664644. 4

Question Number : 62 Question Id : 92090616361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick the odd one out

(1) Must (2) Would
(3) Should {(4) Think
Options :

92090664645. 1
92090664646. 2
92090664647. 3
92090664648. 4



Question Number : 62 Question Id : 92090616361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'FQ'W Eﬁ[ q iEFE:

(1) DMust (2) Would
(3) Should (4) Think
Options :

92090664645. 1
92090664646. 2
92090664647. 3
92090664648. 4

Question Number : 63 Question Id : 92090616362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the phrases given below to create a grammatical sentence of English.

(A) is here

(B) loved apples
(C)  who

(D) The girl

Choose the correct answer from the options given below :
(1) (A), (D}, (B), (C)
(2) (), (B), (D), (A)

3) (D), (C). (B), (1)
(4) (D). (B). (C). (A)
Options :

92090664649. 1
92090664650. 2
92090664651. 3
92090664652. 4

Question Number : 63 Question Id : 92090616362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fre feu o ST § 3SR U AR o S |

(A) is here

(B) loved apples
(Cy who

(D) The girl

Hr= feuw o fawedi # € W@ 30 =1 =1 i

(1 @A), @D, (B), ()
(2) (C), (B), (D), (A)
(3) (D), (O), (B), (A)
(4) (D), (B), (C), (A)

Options :

92090664649. 1
92090664650. 2
92090664651. 3
92090664652. 4

Question Number : 64 Question Id : 92090616363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following sentences contain an ‘experiencer’ argument?

{A) He went to Champaran

(B) We are at home

{(C) Pihu likes gulab jamun

(D) Physics frightens Shubham

Choose the correct answer from the options given bhelow :
(1) (A), (B) only

(2) (A), (C) only

(3) (C), (D) only

(4) (B), (C), (D) only

Options :

92090664653. 1
92090664654. 2
92090664655. 3
92090664656. 4



Question Number : 64 Question Id : 92090616363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FfafEd & FH-®A @ a@9] § FA9ES g6 ol

(A) He went to Champaran.

(B) We are at home.

(C) Pihu likes gulab jamun.

(D) Physics frightens Shubham.

A R e et 3 8 e S A I
(1) % (A), (B)

(2)  =HFe (A), (O)

(3)  =aa (C), (D)

(4) %=« (B), (), (D)

Options :

92090664653. 1
92090664654. 2
92090664655. 3
92090664656. 4

Question Number : 65 Question Id : 92090616364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 1T :

List I List I1
(A) Unaccusative ) Meet
(B) Transitive (II) Fall
(Cy Ditransitive (IIy Gift
(D)  Unergative (IV) Jump

Choose the correct answer from the options given below :

(1) (A)-AV), (B)-(D), (C)-(ID), (D)-(11I)
(2)  (A)-ID. (B)-(I), (C)-(IV), (D)-(I)
3) (A, (B)-aII), (C)-(ID), (I)-(IV)
4)  (A)-D), (B)-(@). (C)-(II), (D)-(IV)

Options :

92090664657. 1
92090664658. 2
92090664659. 3
92090664660. 4

Question Number : 65 Question Id : 92090616364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 =y g=h-11 =1 faem Fifaw
T=-1 =11
(A) FHIHNE (M Meet
(B) TFd=® (II) Fall
(C) Temidw (I11) Gift
(D) #=d (V) Jump

g few o fawedl 9 € wE I w1 959 i

(L (A)-AV), (B)-(), (C)-(1D), (D)-(11I)
(2  (A)-aD), (B)-11D), (C)~(IV), (D)-(D)
3 A-D, (B)-(11D), (C)-(ID), (D)-(IV)
4)  (A)-aD), B)«D), (O)-ID, (D)-IV)
Options :
92090664657. 1

92090664658. 2
92090664659. 3



92090664660. 4

Question Number : 66 Question Id : 92090616365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The surface word order in the sentence ; “Coffee, I like”. is:

(1) SVO (2) OS8SV
(3) SOV (49) OVS
Options :

92090664661. 1
92090664662. 2
92090664663. 3
92090664664. 4

Question Number : 66 Question Id : 92090616365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Coffee, I like” 9199 &1 Hddl Te-HA &:

(1) SVO (2) OSV
3) SOV (4) OVS
Options :

92090664661. 1
92090664662. 2
92090664663. 3
92090664664. 4

Question Number : 67 Question Id : 92090616366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The grammar component that pertains to phrase structure and sentence structure is known
as —

(1) Semantics (2) Byntax
(3 Phonetics (4) Pragmatics
Options :

92090664665. 1
92090664666. 2



92090664667. 3
92090664668. 4

Question Number : 67 Question Id : 92090616366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR i T8 F1s W AT GLEAT I AT GG ¥ GE9d &, el awl e

(1) =9 T (2) e fagm
(3) @ fagm (4) SEN goieh A
Options :

92090664665. 1
92090664666. 2
92090664667. 3
92090664668. 4

Question Number : 68 Question Id : 92090616367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iz a term used in semantics to refer to a direct association between form and

meaning
(1) Synaesthesia (2) Vowel
(3) Sychronic (4) Syncope
Options :

92090664669. 1
92090664670. 2
92090664671. 3
92090664672. 4

Question Number : 68 Question Id : 92090616367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT H w9 3 3% o ©iY g9y i euiH § Y oayE A &g JIT <l Sl 2l
(1) HeEded (2) =
(3) HHEIGH (4) &AM

Options :



92090664669. 1
92090664670. 2
92090664671. 3
92090664672. 4

Question Number : 69 Question Id : 92090616368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an example of an adjective that can be used attributively but not
predicatively?

(1) agile (2) serious
(3) naughty (4) previcus
Options :

92090664673. 1
92090664674. 2
92090664675. 3
92090664676. 4

Question Number : 69 Question Id : 92090616368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fr=fofas 3 & =60 @1 v fawm =1 e 2 e w3 oners w9 " R o w2
T Tt €9 € 99

(1) Agile (2) Serious
(3) Naughty (4) Previous
Options :

92090664673. 1
92090664674. 2
92090664675. 3
92090664676. 4

Question Number : 70 Question Id : 92090616369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is an example of an adjective that can be used attributively but not
predicatively?

(1) tall (2) former
(3) happy (4) docile
Options :

92090664677. 1
92090664678. 2
92090664679. 3
92090664680. 4

Question Number : 70 Question Id : 92090616369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafigs § @ *9 @1 serw v fasmn =1 2 foees @ e fGgen F w9 4 8@
AT & T fav T & =9 1 =8

(1) tall (2) former
(3)  happy (4) docile
Options :

92090664677. 1
92090664678. 2
92090664679. 3
92090664680. 4

Question Number : 71 Question Id : 92090616370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following does not illustrate the application of the substitution test?
(1) The cats played in the mud.

They played in the mud
(2) The cats will play in the mud, if the boys do so

(3) The cats played in the mud.
The cats played there

(4) The cats played in the mud and enjoyed it

Options :
92090664681. 1
92090664682. 2



92090664683. 3
92090664684. 4

Question Number : 71 Question Id : 92090616370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fr=ferfiga ® & = gfoemam gig % Sy 6 S J8 w87
(1) fafeea 3 Faeg 4 gan)
4 $=s 1 G|
(2) fafeoat fae 4 gorfi, afe &g+ va +=d 2
(3) fafeeat 4 e o @en
fafeeal a8l @l
(4) Tafeeai 3 Fag @ g 31 @61 3 I3[

Options :

92090664681. 1
92090664682. 2
92090664683. 3
92090664684. 4

Question Number : 72 Question Id : 92090616371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the sentences below, which sentences are examples of subject-auxiliary inversion?

(A) What have you bought?
(B) Mona has invited me.
(C) Jeetu is happy, right?
(D)  Will he wvisit us?

Choose the correct answer from the options given below :

(1) (D) only

(2) (B), (C) only

(3) (A), (C), (D) only
(4) (A), (D) only

Options :
92090664685. 1
92090664686. 2



92090664687. 3
92090664688. 4

Question Number : 72 Question Id : 92090616371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I feu e @ S-S O 99 FA-T8ES a1 G9m & I

(A) What have you bought?
(B) Mona has invited me.
(C) dJeetu is happy, right?
(D) Will he visit us?

i fou MU el ® § 9E I 1 999 Hifau
(1) ==« (D)

(2) == (B), (O)

(3) e (A), (O), (D)

(4) == (A), (D)

Options :

92090664685. 1
92090664686. 2
92090664687. 3
92090664688. 4

Question Number : 73 Question Id : 92090616372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

is a term derived from the work of J.L. Austin’s theory which analyses the role
of utterances in relation to the behaviour of Speaker and hearer.

(1) Sound act (2) Speech act
(3) Speech chain (4) Sound processing
Options :

92090664689. 1
92090664690. 2
92090664691. 3



92090664692. 4

Question Number : 73 Question Id : 92090616372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

J.L. Austin =1 Ffa § e faga $1 a1 qivaiivs vsg i I=woi Hi qus # e,
T U ATAT o TEH 98N H Hidl 8, 98 hEddl 8:

(1) @& i (2) Sumr Hifq
(3) wHUw B (4) e FER
Options :

92090664689. 1
92090664690. 2
92090664691. 3
92090664692. 4

Question Number : 74 Question Id : 92090616373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Every person has a unique way of speaking that is called

(1) An idiolect (2) A dialect
(3) A social lect {4) An Accent
Options :

92090664693. 1
92090664694. 2
92090664695. 3
92090664696. 4

Question Number : 74 Question Id : 92090616373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S SAfad @ U aieH i AfgaE {fd g6l 8, S FHgend 8

(1) =afEaym (2) et
(3) HHI=EY9™ET (4) =
Options :

92090664693. 1



92090664694. 2
92090664695. 3
92090664696. 4

Question Number : 75 Question Id : 92090616374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

is defined of the general ability to use language accurately, appropriately and

flexibly.

(1) Performance (2) Communicative competence

(3) Strategic competence {(4) Sociolinguistic competence
Options :

92090664697. 1
92090664698. 2
92090664699. 3
92090664700. 4

Question Number : 75 Question Id : 92090616374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g9 WA F TR, TG TS SN i HTOR A wfraifae feran
™ B

(1) T (2) et gaF

(3) Trifae g&an (4) THTS 9IS S0 geTl

Options :

92090664697. 1
92090664698. 2
92090664699. 3
92090664700. 4

Question Number : 76 Question Id : 92090616375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the two major aspects of James Holme's ‘Map of Translation Studies™

(A) Pure

(B) Applied

(C) Intralingual

(D Interlingual

(E) Teaching and testing

Choose the most appropriate answer from the options given below :

(1) (C) and (D) only
(2)  (E)only
(3 (A) and (B) only
(4) (E), (C), (D) only
Options :
92090664701. 1
92090664702. 2
92090664703. 3
92090664704. 4

Question Number : 76 Question Id : 92090616375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

James Holme's &I ‘Map of Translation Studies’ & & Wq@ HEM 391 87

(A) g

(B) w3

(C) AT Wik
(D) A wifvh

(E) furgmor ug =i

e feu o faseal 0 © waifaes @8 I 1 994 HIfa
(1) &aa (C) 3 (D)

(2) %4« (E)

(3) had (A) 3R (B)

(4) =@ (B), (C), (D)



Options :

92090664701. 1
92090664702. 2
92090664703. 3
92090664704. 4

Question Number : 77 Question Id : 92090616376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following stages in the developmental order for child language acquisition?

(A) Telegraphic stage
(B) Two-word stage
(C) Holophrase stage
(D) Babbling stage

Choose the correct answer from the options given below :

(1) (D), (C). (B), (A)
(2) (B), (C). (D), (A)
(3) (A), (B}, (C), (D)
4 (©). (B). (A),. (D)
Options :

92090664705. 1
92090664706. 2
92090664707. 3
92090664708. 4

Question Number : 77 Question Id : 92090616376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl |I9T oA & (IR & T %l cand|

(A) EefTRS T
(B) Teufez =
(C) Beihies &
(D) sl &

e few T fawedi d & wE I w1 =1 i

(1) (D), (C), (B), (A)
2 (B, (C), (D), (A)
(3 (A, (B), (C), (D)
(4) (C), (B), (A), (D)

Options :

92090664705. 1
92090664706. 2
92090664707. 3
92090664708. 4

Question Number : 78 Question Id : 92090616377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the work of Peter Trudgill in chronologieal order :

(A) Dialects in contact
(B) Linguistic change and diffusion
(C) New-Dialect formation

(D) Sociolinguistic variation and change

Choose the correct answer from the options given below :

(1) (B), (A), (D), (C)

(2) (A), (B), (D), (C)

(3) (C), (B), (A), (D)

(4) (C), (A), (B), (D
Options :

92090664709. 1
92090664710. 2
92090664711. 3
92090664712. 4



Question Number : 78 Question Id : 92090616377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
et Z3fe i Ffadl 1 FEHITER AT B
(A) SHEEECE $1 HIewR
(B) fafafes = wwe fewEm
(€) SR BiGEH
(D) wifmEfafafes afeem we 5=

fr feu o famedi @ @ ol 39 =1 =99 i .
(1)  (B), (A), (D), (C)
2) (A), (B), (D). (O
(3)  (C), (B), (A), (D)
4 (©), (A), (B), (D)

Options :

92090664709. 1
92090664710. 2
92090664711. 3
92090664712. 4

Question Number : 79 Question Id : 92090616378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A case where the Target text contains no equivalent of a source text item is known as

(1) Zero translation (2) Textual equivalence
(3) Transfer (4) Double translation
Options :

92090664713. 1
92090664714. 2
92090664715. 3
92090664716. 4



Question Number : 79 Question Id : 92090616378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9% feufa el @i 918 °, 9o 118 U¢ 1 FIE 90dcdis A81 8, HEdmdl @

(1) I3 HfEE (2) 9B FHA
(3) EW (4) BB AR
Options :

92090664713. 1
92090664714. 2
92090664715. 3
92090664716. 4

Question Number : 80 Question Id : 92090616379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement | :  Children don't hear adults produce the past tense forms such as *doed,
*runned, *goed, but most children produce them in the process of

language acquisition.

Statement 11 :  Memorization of an inventory of words and sentences equips learners to

understand novel sentences.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement 11 are correct

(2) Both Statement I and Statement I1 are incorrect
(3) Statement I is correct but Statement I is incorrect
(1) Statement I is incorrect but Statement 11 is correct

Options :



92090664717. 1
92090664718. 2
92090664719. 3
92090664720. 4

Question Number : 80 Question Id : 92090616379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= 2w few o E
HYT [ : &= 394 921 & EGEAR] % ®9 9 doed, runned, goed, etc., I R A8
Hd Tohq AUeat S=1 YT 379 URAT § §% I=1d i 8l
&Y 11 : Taamrefl & 7d= T & 9939 & fou, wegl g g 6 Feer g4, 9
ETGIRA
ITRE Y % ATCh |, A fou mu fasmedt § & F9 3ugw I 1 991 S
(1) o 1 3 %2 113 w8 &
(2) = 1 3R %2 11 gHi o 8
(3) =y 1 HE &, dfhd wee 11 7ed 8
(4) =¥ 17ed 7, oifeh w2 11 580 8
Options :
92090664717. 1
92090664718. 2

92090664719. 3
92090664720. 4

Question Number : 81 Question Id : 92090616380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I :  English was introduced in India by The British in the Ninth century
and soon it became the language of administration, medium of higher
education and common language among educated people from different

parts of the country.

Statement 11 1 After the end of British rule in 1947, Hindi was given the status of an

official language of The Union of India.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement [ and Statement I1 are correct

(2) Both Statement I and Statement I are incorrect

(3} Statement I is correct but Statement 11 is incorrect

{4) Statement I is incorrect but Statement 11 is correct
Options :

92090664721. 1
92090664722. 2
92090664723. 3
92090664724. 4

Question Number : 81 Question Id : 92090616380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fr g1 wy few o #

wuq [ : Sl waedt § wia 0 US4 30t 1 I=ed 5 3 doe € 98 9E 6

amT, 3= foem =1 grem it 2w 5 fafim g O fafga <o i 9w oamw
T TS|

Fu 11 : 5w w8 & 39 & 9% a4 1947 ° f&=< &1 9na & Fnl 9 &1 g e

RIE N

IE HUF o ATelk °, A fou mu faewmed O @ ged IugeE I w1 99 Fifan

(1)
(2)
(3)
(4)

FYA 1 31 11 i wal 8
FYA 1 3 11 g1 Tera &
FUA 1 981 &, oifed %94 11 7Teid 2
F9H 1 7T 2, wfhd %94 11 981 8

Options :

92090664721. 1
92090664722. 2
92090664723. 3
92090664724. 4

Question Number : 82 Question Id : 92090616381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The study of the mental processes and representations involved in Language comprehension
and production

(&)
(B)
(©)
(D)
(E)

Syntax
Pavcholinguistics
Translation studies
Semantics

Sociolinguistics

Choose the most appropriate answer from the options given below :

(1)
(2)
(3)
(4)

(B) and (C) only
(B) only
(A), (E), (D) only
(C) only



Options :

92090664725. 1
92090664726. 2
92090664727. 3
92090664728. 4

Question Number : 82 Question Id : 92090616381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT Tiha3l Ud AaEqu &1 eI 99T 914 Ug 3c9764 i Hfed idl 21
(A)  Fg-fa=m

(B) AT
(C) e fagm
(D) Y fagm

(E) =i amr fasm

g feu o famedt # @ = I %1 9w i
(1) %ae (B) 3 (C)

(2) %ad (B)

(3) Faa (A), (B), (D)

(4) ad (C)

Options :

92090664725. 1
92090664726. 2
92090664727. 3
92090664728. 4

Question Number : 83 Question Id : 92090616382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The study of abnormal language behaviour, especially associated with medical condition is
called

(1) (Genetic Relationship (2) Natural language processing
(3) Language pathology (4) Language planning
Options :

92090664729. 1
92090664730. 2
92090664731. 3
92090664732. 4

Question Number : 83 Question Id : 92090616382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oo =0 5 faferadfia <on ¥ T=g 39am= 9N =9EN F1 AS=TH FaA 8:

(1) SAgEr+ =y (2) Wihfd HIET TEEH
@ e o @ s
Options :

92090664729. 1
92090664730. 2
92090664731. 3
92090664732. 4

Question Number : 84 Question Id : 92090616383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A larges body of machine-readable texts may be referred as

(1) Set Expression (2) Computer corpus
(3) Generative Grammar (4) Critical linguistics
Options :

92090664733. 1
92090664734. 2
92090664735. 3
92090664736. 4

Question Number : 84 Question Id : 92090616383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

YA & YeE A & g&T 9T & 93 e wi foem w9 § wefda e o1 e 27

(1) fafrag sfysfeE (2) FA IIEHE
(3)  I9IEH SR (4) IArEATES 9T fase
Options :

92090664733. 1
92090664734. 2
92090664735. 3
92090664736. 4

Question Number : 85 Question Id : 92090616384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term which in used to refer to relationship between to words derived from the same root
18

(1) Paronymy (2) Homophone
(3) Polysemy (4) Paratone
Options :

92090664737. 1
92090664738. 2
92090664739. 3
92090664740. 4

Question Number : 85 Question Id : 92090616384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% WeeYl W TUYS § oFfcdd Wegl & YHEdi{sh Hayl i SR Hal 8, HEerd 2|

(1) @murg (2) HHMEENE
(3) Tt (4) = =
Options :

92090664737. 1
92090664738. 2
92090664739. 3
92090664740. 4



Question Number : 86 Question Id : 92090616385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A) :  Machine Translation systems have been traditionally developed using rule-
based approaches.

Reasons (R) : Machine Translation encodes formal linguistic representations of the

lexicon, grammar, semantics ete.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 1s true but (R) is false

(1) (A) 1= false but (R) is true

Options :

92090664741. 1
92090664742. 2
92090664743. 3
92090664744. 4

Question Number : 86 Question Id : 92090616385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 &1 %Y QU T B : U AFHEA (Assertion (A)) % ®9 H foifiga & a1 gaU 39 AW
(Reasons (R)) & &9 7 :

AFH (A) . AHAF ARG U AUV HEmEg A 1 IwEe w9 8
2l

F (R) : RIECTIICO G A | o 0 M G B o g B e e B L
31 o 3=t iivs Sagal i Ygfia #a 2|

ITRE FUH o AT °, A fou mu fawed § & @9 3ugeE I H 95 Hifan

(1)  (A) 3 (R) gH1 &1 € 31 (R), (A) i =&l =arem 2

(2)  (A) 3R (R) SH1 @l &, wifshd (R), (A) =51 @l =amen e #
(3) (A) @ 2, wfd (R) @i 78 @

(4) (A @ TE 2, @l (R) 9 2

Options :

92090664741. 1
92090664742. 2
92090664743. 3
92090664744. 4

Question Number : 87 Question Id : 92090616386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lexical items which have the same meanings are called

(1) Prosody (2) Preposition
(3) Particle (4) Synonym
Options :

92090664745. 1
92090664746. 2
92090664747. 3
92090664748. 4

Question Number : 87 Question Id : 92090616386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



wifees (So-fawas) fawa foess aum 379 @ £, 3 e & -

(1) wearA (2) e
(3) Bl Hw (4) wETEET
Options :

92090664745. 1
92090664746. 2
92090664747. 3
92090664748. 4

Question Number : 88 Question Id : 92090616387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List 11 :

List I List 1T
(A) Verb (' Teacher
(B) Adjective (II} Arrive
() WNoun (IITI} Beautiful
(D) Preposition (IV) In

Choose the correct answer from the options given below :

(1)  (A)-aD), (B)-(I1D), (C)-(IV), (D)-(I)
(2)  (A)-0ID), (B)-[@). (C)-(1), (D)-(IV)
(3)  (A)-aD), (B)-(1D), (C)-(1), (D)-(IV)
4y (A)-aV), (B)-(ID), (C)«(T), (D)-(ILI)

Options :

92090664749. 1
92090664750. 2
92090664751. 3
92090664752. 4

Question Number : 88 Question Id : 92090616387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 % a1 =11 &1 T Hife

g1 g1
(A) femam (I) Teacher
(B) oo (I) Arrive
(C) == (ITT) Beautiful
(D) e (IV) In

g feu o famwewl O ° 98 39 =1 =94 Fifsu .

(1) (A)-aD, (B)-IID, (C)-1V), (D)-(D)
(2)  (A)-(IID), (B)-(D), (O)-(II), (D)-(IV)
(3)  (A)-1AD), (B)-(I1D), (C)-(D), (D)-AV)
(4)  (A)-AV), (B)-ID, (C)-(D), (D)-(1L)

Options :

92090664749. 1
92090664750. 2
92090664751. 3
92090664752. 4

Question Number : 89 Question Id : 92090616388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

are words related to Languages that developed from the same root.

(1) Cognates (2) Phone
(3) Consonants (4) Morphemes
Options :

92090664753. 1
92090664754. 2
92090664755. 3
92090664756. 4

Question Number : 89 Question Id : 92090616388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 veg £ 9l 31 Wi ¥ Hatud & fames faem &1 g v & 2

(1) w=ifaa (2) ==
(3) = (4) =fm
Options :

92090664753. 1
92090664754. 2
92090664755. 3
92090664756. 4

Question Number : 90 Question Id : 92090616389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ : The phrases ‘forgotten about’ and ‘forgot aboutten’ are not examples of

slips of the tongue

Statement 11 : The words ‘they” and ‘us’ are not examples of R-expressions

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement [ and Statement 1 are true

(2) Both Statement [ and Statement IT are false

(3) Statement I is true but Statement I is false
(4) Statement [ is false but Statement II is true
Options :

92090664757. 1
92090664758. 2
92090664759. 3
92090664760. 4

Question Number : 90 Question Id : 92090616389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i g e fer Tu E

w99 1: FEW “forgotten about” 3T “forgot aboutten” & fhEem & IeEw
TE 2|

FeF 11 : 9= ‘they’ 3 ‘us’ FYgfee Afr=ataa = Igem 8 &l
T HIA & @ °, A feu U fawmed § ¥ 798 30w I A =591 Fifa

(1) =y 1 3R Il gH 98 &
(2) &g9 1 31 [ eHi Tad &
(3) =y 1= 2, o =99 11 71 2
(4) =Y 174 2, i 2 [ 961 2
Options :
92090664757. 1
92090664758. 2

92090664759. 3
92090664760. 4

Question Number : 91 Question Id : 92090616390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blank with the correct option from the following :

Speak : Sing: : Walk ;

(1) slow (2) good
(3) run (4} new
Options :

92090664761. 1
92090664762 2
92090664763. 3
92090664764. 4

Question Number : 91 Question Id : 92090616390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fr feu mu fammen & @l wm $ gfd Fifw

Speak : Sing : : Walk :

(1) slow (2) good
(3) run (4) new
Options :

92090664761. 1
92090664762. 2
92090664763. 3
92090664764. 4

Question Number : 92 Question Id : 92090616391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement | :  The Indian grammatical Tradition predates the Greco-Roman tradition.
Statement 11 :  The Greco-Roman tradition is dependent on the Indian Grammatieal
Tradition.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement Il are incorrect

(3) Statement I is correct but Statement 11 is incorrect

{4) Statement I is incorrect but Statement Il is correct
Options :

92090664765. 1
92090664766. 2
92090664767 3
92090664768. 4



Question Number : 92 Question Id : 92090616391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e < e g e € -

HYq [ HHATE SATRUER TR, Ui-18T SR E 9Ed i 2

FHYF 11 - Uhi-THT T, WA STt S0 T A1 21

ITI FHYAT & e o, A= Gu e fawed § @ waiivys 39g® 3w g0
(1) w5 1 3 %2 11 g1 981 8

(2) & 1 3R %y [ 41 Toid &

(3) @ 15E 2, foeg %9 11 7eid 2

(4) FY 174 8, Thq % [1 981 8
Options :
92090664765. 1
92090664766. 2

92090664767. 3
92090664768. 4

Question Number : 93 Question Id : 92090616392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The notion of Langue and Parole was introduced by

(1) Chomsky (2) John Lyons
(3) Saussure (4) Bloomfield
Options :

92090664769. 1
92090664770. 2
92090664771. 3
92090664772. 4

Question Number : 93 Question Id : 92090616392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT SHEE] FN SAGEN SEYRAT 1 Siades fhaeh gr fomar man?

(1) =i (2) =i ferg
(3) @R (4) =H(beE
Options :

92090664769. 1
92090664770. 2
92090664771. 3
92090664772. 4

Question Number : 94 Question Id : 92090616393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with Last 11 :

List 1 List IT
(A} Language instf I} Bloomfield
(B) Introduction to Theoretical linguistieca (1I) Steven Pinker
(C) Bound patterns of English (I1T) John Lyons
(D) Language (IV) Chomsky

Choose the correct answer from the options given below :

(1) (A)-(I), (B)-(I1I), (C)-(IV), (D)-(1I)
(2) (A)-(11), (B)-(I1I), (C)-(IV), (D)-(I)
(3) (A)-(IT), (B)-(IV), (C)-(I1I), (D)-(D)
(4)  (A)-(V), (B)-(III), (C)-(D), (D)-(IT)

Options :

92090664773. 1
92090664774. 2
92090664775. 3
92090664776. 4

Question Number : 94 Question Id : 92090616393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



F-1 % gi-11 & gifra Hif -

F=i-1 -1
(A) s () =TTHics
(B) sgis®H T Afiewa (1) =ree fie
feafafeam
(C) dmEs el 3T siersr (I11) S ===
(D) <=t (IV) =meh

I fev mu fawewl 9 € wd 39 =1 =959 i

(1) (A)-(), (B)-(IID), (C)-(IV), (D)-(II)
2 (A)-AD, (B)-(ID), (C)-(IV), (D))
3 (AW-ID, (B)-@V), (C)-(ID), (D)-(D
4)  (A)-V), (B)-(1D, (C)-(D), (D)-AT)

Options :

92090664773. 1
92090664774. 2
92090664775. 3
92090664776. 4

Question Number : 95 Question Id : 92090616394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List I List II
(A) Grimm's Law and Verner's law () LAD
(B) Fillmore and Kay (IIY Verbal Behaviour
(C) Chomsky (IIT) Sound change
() B.F. Skinner {IV) Construction grammar

Choose the correct answer from the options given below :

(1) (A)-II), (B)-(D), (C)-(IV), (D)-(II)
(2)  (A)-(ID, (B)-(AV), (C)-(D), (D)-(II)
(3)  (A)-aI), (B)-(D), (C)-(IV), (D)-(II)
(4)  (&)-AV), (B)-(1I), (C)-(D), (D)-(II)

Options :
92090664777. 1



92090664778. 2
92090664779. 3
92090664780. 4

Question Number : 95 Question Id : 92090616394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T1-1 &t g=i-11 & gafaa $ifau -
-1 -1
(A) g & A T & (I) LAD
(B) e 3 = (I1) mfece ==aER
(C) =r==hi (I1T) =&t i
(D) #t.us. feFm (IV) ST=HT =TT

g feu mu fawewi 8 € wE I w1 9= i

(1)  (A)-(IID), (B)-(I), (C)-(IV), (D)-(1I)
(2) (A)-(IID), (B)-(IV), (C)-(I), (D)-(IT)
(3)  (A)-D, (B)-(D), (C)-(IV), (D)-(11I)
(4)  (A)-(IV), (B)-(I1D), (C)-(D), (D)-(I)

Options :

92090664777. 1
92090664778. 2
92090664779. 3
92090664780. 4

Question Number : 96 Question Id : 92090616395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i

(A) Ashtadhyvayi
(B) Nirukta

(C) Vakyvapadyam
(D) Mahabhashya

Choose the correct answer from the options given below :

(1) (O, (A (D), (B)
(2) (B, A D), (C)
(3)  (C), (D). (A), (B)
(4) (D), (C), (A, (B)

).
).
Options :
92090664781. 1
92090664782. 2

92090664783. 3
92090664784. 4

Question Number : 96 Question Id : 92090616395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Trafafaa = = 33 30 & w9 1 2|

Lt

(A)  3mereE
(B) Tieam
(C) =TFYeEH
(D) wHerHT

g few o famedi o @ wE 39 =1 =99 i .

(1)  (©), (A), (D), (B)
@ (B, A), D), (©)
3 (C), (D), (A), (B)
(4) (D), (©), (A). (B)

Options :
92090664781. 1
92090664782. 2



92090664783. 3
92090664784. 4

Question Number : 97 Question Id : 92090616396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Ashtadhyayi” is written by

(1) Bharatrihari (2) Pannini
(3) Patanjali (4) Yaksha
Options :

92090664785. 1
92090664786. 2
92090664787. 3
92090664788. 4

Question Number : 97 Question Id : 92090616396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“ITTETET” o e §

(1) el (2) rfor
(3) TAwAf (4) I
Options :

92090664785. 1
92090664786. 2
92090664787. 3
92090664788. 4

Question Number : 98 Question Id : 92090616397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mahabhasya is the work of

(1) Patanjali (2) Panini
(3) Bhartrihari (4) Buddha

Options :



92090664789. 1
92090664790. 2
92090664791. 3
92090664792. 4

Question Number : 98 Question Id : 92090616397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TeraTs foRueht Hfa &7

(1) va=fe (2) wrfirt

(3) wgEl (4) 9=
Options :

92090664789. 1
92090664790. 2
92090664791. 3
92090664792. 4

Question Number : 99 Question Id : 92090616398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Book “Language” is written by

(1) Bloomfield (2) Chomsky
(3) David Crystal (4) Francis Katambe
Options :

92090664793. 1
92090664794. 2
92090664795. 3
92090664796. 4

Question Number : 99 Question Id : 92090616398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS A [ & oidh &

(1) =HdeE (2) b
(3) cfue faea (4) HifeE iea
Options :

92090664793. 1
92090664794. 2
92090664795. 3
92090664796. 4

Question Number : 100 Question Id : 92090616399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Book “Origin and Development of Bengali Language” is written by

(1) Harjeet Singh Gill (2) Sukumar Sen
(3) Suniti Kumar Chatterjee (4) N. Chomsky
Options :

92090664797. 1
92090664798. 2
92090664799. 3
92090664800. 4

Question Number : 100 Question Id : 92090616399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS “IT wE Saee 3 SE o & a8

(1) & e fi (2) P E
(3)  HHifa FaR =t (4) TF. Tl
Options :

92090664797. 1
92090664798. 2
92090664799. 3
92090664800. 4



